Informational Report for the June 26, 2012 Board of Trustees Meeting

				New Emp			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	to District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College	Community Edu	lootion										
Chabot College		lcation			To teach Drama to							
					Kids on Campus	Community						
Amayo Hassan	Linda	M.	Chabot	No	students.	Education	Hourly	\$45.00	20	\$900.00	6/18/2012	7/27/2012
				110	To work as a camp			* 10100		Q	0, 10, 20 12	
					counselor for Kids on	Community						
Bishop	Sasha	G.B.	Chabot	No	Campus Program.	Education	Hourly	\$10.00	118	\$ 1,180.00	6/18/2012	7/31/2012
					To work as a camp							
					counselor for Kids on	Community						
Casareno	Justin	D.	Chabot	No	Campus Program.	Education	Hourly	\$10.00	150	\$ 1,500.00	6/18/2012	7/31/2012
					To teach TaeKwon Do							
					to community	Community						
DeGuzman	Rudolfo	S.	Chabot	No	education students.	Education	Hourly	\$35.00	16	\$560.00	6/12/2012	7/31/2012
					To teach Handmade							
					3D Greeting Cards to community education	Community						
Field	Katrin	М.	Chabot	No	students.	Education	Hourly	\$35.00	6	\$210.00	3/3/2012	6/30/2012
i ieiu	Ratilii	IVI.	Chabot	INO	students.	Ladoation	riourly	ψ00.00	U	Ψ210.00	3/3/2012	0/30/2012
					To teach Mathematics							
					and Language Arts to							
					7th-8th grade - Kids on	Community						
Goldsmith	Ashley	R.	Chabot	Yes	Campus students.	Education	Hourly	\$35.00	37	\$1,295.00	6/25/2012	7/13/2012
					To teach Cartooning to							
					Kids on Campus	Community						
Kolm	Brian	M.	Chabot	No	students.	Education	Hourly	\$30.00	20	\$600.00	6/18/2012	7/31/2012
					To to Chinese to							
					community education	Community						
Kuo	Diana	S.	Chabot	No	students.	Education	Hourly	\$45.00	10	\$450.00	6/18/2012	7/20/2012
					To teach Mathematics							
					and Language Arts to							
					7th-8th grade - Kids on	Community						
Malek	Sonia	M.	Chabot	Yes	Campus students.	Education	Hourly	\$35.00	17.5	\$612.50	6/18/2012	7/13/2012

Informational Report for the June 26, 2012 Board of Trustees Meeting

Last Name	First Name	МІ		New Emp		Division	Pay Type	Pay Pate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Last Hame	I ii st ivaille	1411	Oite	to District	To work as a camp	DIVISION	Type	I ay Nate	Waxiiiuiii	Amount	Deg. Date	Life Date
					counselor for Kids on	Community						
Perry	Joseph	M.	Chabot	Yes	Campus Program.	Education	Hourly	\$10.00	124	\$1,240.00	6/18/2012	7/27/2012
	'				To work as a camp					. ,		
					counselor for Kids on	Community						
Powell	Megan	E.	Chabot	Yes	Campus Program.	Education	Hourly	\$10.00	200	\$2,000.00	6/18/2012	7/31/2012
					To work on Lumens							
					website issues (HTML							
					code, etc.), summer							
					camp websites	Community						
Sannebeck	Daniel	A.	Chabot	No	production.	Education	Hourly	\$14.00	25	\$350.00	3/26/2012	6/14/2012
					To work as a camp							
					senior counselor and							
			0		camp director for Kids	Community		# 00.00	4.50	Φο οοο οο	0/40/0040	7/04/0040
Sannebeck	Daniel	A.	Chabot	No	on Campus Program.	Education	Hourly	\$20.00	150	\$3,000.00	6/18/2012	7/31/2012
					To teach Flash							
	D:11	_	Ob - b - t	NI-	Animation for Kids on	Community	I I a contro	#45.00	40	\$450.00	7/0/0040	7/07/0040
Schwarz	Bill	F.	Chabot	No	Campus students.	Education	Hourly	\$45.00	10	\$450.00	7/2/2012	7/27/2012
					To teach Garage Band							
Channan	\\/:II: a :==		Chabot	No	for Kids on Campus students.	Community Education	Hourby	\$45.00	10	\$450.00	6/18/2012	7/31/2012
Shannon	William	S.	Chabot	INO	students.	Education	Hourly	\$45.00	10	\$ 4 50.00	6/16/2012	7/31/2012
					To teach One-Stroke							
					Painting to community	Community						
Small	Melanie	nmi	Chabot	No	education students.	Education	Hourly	\$35.00	8.75	\$306.25	6/25/2012	7/31/2012
Siliali	IVICIAITIC	111111	Chabot	140	education students.	Ludcation	Tiourty	ψ33.00	0.73	ψ300.23	0/23/2012	7/31/2012
Chabot College												
Chaser Conego												
					To work as a sports							
					instructor for the							
					disadvantaged youth	Special						
					summer sports	Programs &	Flat					
Adams Bailey	Tracey	C.	Chabot	No	program.	Services	Rate	\$ 1,800.00	1	\$ 1,800.00	6/18/2012	7/19/2012

Informational Report for the June 26, 2012 Board of Trustees Meeting

Last Name	First Name	MI		New Emp		Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	
Brawner	Tammy	D.	Chabot Y	Yes	To work as a sports instructor for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,800.00	1	\$ 1,800.00	6/18/2012	7/19/2012
Chestnut	Jesse	M.	Chabot Y	Yes	To work as a project aide for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Davis	Asti	J.	Chabot Y	Yes	To work as a project aide for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Davis	Nailah	A.	Chabot N	No	To work as a project aide for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Davis	Nyaa	D.	Chabot Y	Yes	To work as a project aide for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Genera	Martin	J.	Chabot Y	Yes	To work as a sports instructor for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,080.00	1	\$ 1,080.00	6/18/2012	7/19/2012

Informational Report for the June 26, 2012 Board of Trustees Meeting

Last Name	First Name	MI		New Emp to District		Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Ghaemi	Bidgoli	M.	Chabot	No	To provide language and speech consulting, maintain individual case studies, and provide consultations for Individual Education Plans.	Children's Center	Hourly	\$45.00	70	\$3,150.00	5/1/2012	6/30/2012
					To work as a project aide for the disadvantaged youth summer sports	Special Programs &	Flat		-			
На	Theodore	T.		No	program. To work as a project aide for the disadvantaged youth summer sports	Special Programs &	Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	
Huyhn Kubicki	Linda Jennifer	J.		Yes No	program. To serve as Sports Instructor for the Summer Youth Sports Program.	Special Programs and Services	Rate	\$ 1,200.00 \$1,800.00	1 20/week	\$ 1,200.00 \$1,800.00	6/18/2012	
Noguez-Olguin	Andrea	C.	Chabot	Yes	To work as a lifeguard for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Pastore	Mary	E.	Chabot	No	To provide assistance to the Fire Technology Instructor and support the students.	Applied Technology and Business	Hourly	\$75.00	13.5	\$1,012.50	3/16/2012	6/30/2012

Informational Report for the June 26, 2012 Board of Trustees Meeting

Last Name	First Name	МІ		New Emp to District		Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Rivers	Tiffany	M.	Chabot	Yes	To work as a lifeguard for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Robinson	Kyle	J.	Chabot	No	To work as a sports instructor for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,800.00	1	\$ 1,800.00	6/18/2012	7/19/2012
Rubino III	Jesse	A.	Chabot	Yes	To work as a lifeguard for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Ruvalcaba	Arthur	nmi	Chabot	Yes	To work as a project aide for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Tomei	Tyler	A.	Chabot	Yes	To work as a lifeguard for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,200.00	1	\$ 1,200.00	6/18/2012	7/19/2012
Wagoner	Dylan	J.	Chabot	No	To work as a sports instructor for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,800.00	1	\$ 1,800.00	6/18/2012	7/19/2012

Informational Report for the June 26, 2012 Board of Trustees Meeting

Last Name	First Name	MI		New Emp to District		Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Winter	Julia	E.	Chabot	No	To work as a sports instructor for the disadvantaged youth summer sports program.	Special Programs & Services	Flat Rate	\$ 1,080.00	1	\$ 1,080.00	6/18/2012	7/19/2012
Las Positas Colle	ge Community	Educat	ion									
Warda	Christine	M.		No	To provide a special class in public speaking.	Community Education	Flat Rate	\$1,200.00	1	\$1,200.00	5/1/2012	6/30/2012
Las Positas Colle	ge											
Grigsby	Elizabeth	M.A.	Las Positas	No	To provide sign language interpretation services.	Disabled Student Programs and Services	Hourly	\$50.00	50	\$2,500.00	4/17/2012	6/30/2012
Holback	Richard	A.	Las Positas	No	To provide skills evaluation and assess fire service technology students.	Public Safety	Hourly	\$15.00	200	\$ 3,000.00	5/29/2012	7/9/2012
Walters	Elizabeth	E.	Las Positas	No	To provide sign language interpretation services.	Disabled Student Services	Hourly	\$50.00	50	\$2,500.00	4/17/2012	5/31/2012
District Services												
Rodriggs	Edna	M.	Pleasanton	No	To provide Early Childhood Development (ECD) training services to Economic Development/Contract Eductation clients.	Community Education	Hourly	\$97.97	50	\$4,898.50	6/9/2012	6/30/2012